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QUESTION 1

What two components must be installed and configured to allow RDS hosts to deliver application? (Choose two) 

A. Windows Remote Desktop Services 

B. PCoIP agent 

C. Windows Routing and Remote Access Services 

D. View Agent 

Correct Answer: BD 

 

QUESTION 2

A business has a widely distributed sales force where many users do not live anywhere near a dedicated 

office. The business wants to Issue them a laptop and manage the, laptop remotely. 

Which VMware solution meets this business need? 

A. VMware AirWatch 

B. VMware Workspace Portal 

C. VMware ThinApp 

D. VMware Mirage 

Correct Answer: C 

 

QUESTION 3

An administrator receives a trouble ticket reporting a low vRealize Operations for Horizon 6 score value on an object (for
example, 15 out of 100). 

Which course of action should the administrator recommend? 

A. The value indicates a severe problem state, a red badge, and this should be investigated immediately. 

B. The value indicates a normal state and since there are no real Issues or current problems, no action should be
taken. 

C. The value indicates a less severe state, a yellow badge, however this object should be monitored and should be
flagged for investigation if the value changes. 

D. The value of a badge must be correlated with the color of the badge to determine if the state is normal or if there is a
potential problem. 

Correct Answer: D 
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QUESTION 4

The security manager is concerned that users are storing sensitive corporate data in public data sharing services. The
manager has these requirements: 

Users must be able to share data 

Data must be stored in the corporate data center 

Administrators should have granular policy-based control of Sharing 

Which VMware product meets these requirements? 

A. Virtual SAN 

B. VMware Mirage 

C. Horizon Workspace Portal 

D. Horizon (with View) 

Correct Answer: B 

 

QUESTION 5

A consultant is designing a Horizon (with View) deployment and has been informed by the client that several
departments allow their users lo work from home three days a week Which product or component can help secure the
users\\' access to their virtual desktops? 

A. AirWatch Secure Content Locker 

B. VMware Workspace Portal 

C. View Security Server 

D. NSX Manager 

Correct Answer: C 
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